H(III) — Environmental Studies -

2017
ENVIRONMENTAL STUDIES
“Afarafav
(Science / Arts / Music Group)
Full Marks — 75
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(For General Candidates Only)

(Science/Arts/Mus.)

Please carefully read the instruction given in answer-sheet

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Single Answer-type question (1 to 25)

Mark in the answer-sheet to the right answer of all the following questions :

10.

L

1x25

Name the lowest layer of atmosphere —

(a) Troposphere (b) Turbosphere (c)  Stratosphere.
How much amount of total hydrological mass is usable fresh water?
(a) 5% (b) 3% (c) 1%.

The mostly found element in Lithosphere is —

(a) Oxygen (b) Silica (¢) Alumina.
Tsunami is a type of —

(a) High coastal wave due to the Earth’s motion

(b) High mid-oceanic wave due to glaciations

(¢) High coastal wave due to sub-oceanic earthquake.

Which of the following is not a renewable resource?

(a) Hydroelectric (b) Tron ore (¢)  Plantation.
Which of the following leads to soil erosion?

(a) Afforestation (b) Thermal power generation

(¢) Over grazing.

Which activity does not lead to sustainable development?

(a) Gender equality (b) Youth mobilization (¢) Warfare.
Desert ecosystem means an area where —

(a) Temperature is always high

(h) Thorny plants are found

(c) Rate of rainfall is lower compared to evaporation.

Pond ecosystem is also known as —

(a) Savanna (b) Mangrove ecosystem

(c) Lentic ecosystem.

Which of the following plant types are characteristic flora of Sundarbans?
(a) Xerophytes (b) Mesophytes (c¢)  Halophytes.
India is a —

(a) Mega-diversity country

(b) Biodiversity hotspot
(c) Paradiversity country.



13.

14.

15.

17.

18.

19.

20.

2L

Which of the following is a Ramsar Site?

(a) East Calcutta Wetlands

(b) Rabindra Sarobar

fc) Kulik Bird Sanctuary.

A major threat to biodiversity is —

(a) Habitat loss (b) Poaching

(c) All of the above.

The gas responsible for Ozone layer depletion is —

(a) Carbon monoxide (b) Chlorofluorocarbon

(c) Carbon Dioxide.

How can you reduce pollution problems caused by plastics?
(a) Burning the plastic materials

(b) Burning plastic materials under ground

(¢) Reusing and recycling the plastic materials.

One of the major causes of marine pollution is —

(a) Oil spill () Municipal solid waste disposal
(c¢) Over grazing.

Pre-disaster management involves —

(a) Relief operation (b) Establishment of shelters

(¢) Rescue operation.

Which among the following is the most ecofriendly mode of transport?
(a) Motorcycle (b) Bus

(c) Electric Train.

Wildlife (Protection) Act was enacted in the year —

(a) 1971 (b) 1972 (c) 1975.
The full form of HIV is —

(a) Human Immunodeficiency Virus

(b) Human Immunity Virus

(¢) Human Immune Virus.

Kyoto Protocol is concerned to —

(a) Ozone Layer depletion

(b) Solid waste management

(¢) Climate change.

[Tumn Over]
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El-Nino is a —

(a) Type of storm

(b) Weather phenomenon related to ocean current

(¢) Kind of Earthquake.

23. The Gas responsible for Bhopal Gas Tragedy is —
(a) MIC (b) Methane (¢) NOx.

24. Narmada Banchao Andolon was led by —
(a) Medha Patkar (b) Sundarlal Bahuguna
(c) Mahatma Gandhi.

25. Which of the following is found in West Bengal?

(a) Asiatic Ass

(b) One Horned Rhinoceros

(¢) Thar.

Single / Multiple Answer-type questions (Q. No. 26-30)

Read the following passage carefully and darken the circle/circles

corresponding to the correct statement/statements of the respective passage :

26. Everyone of us requires a finite area of Earth’s surface to support our existence.
This is our ‘Ecological Footprint. Its principal components are, our food footprint,
our wood products footprint, and our degraded land footprint. If I eat potatoes, in the
course of a year, [ consume a measurable quantity of potatoes. There is thus an area
of potato production somewhere in the world that is dedicated solely to me for my
annual consumption of potatoes. Same is true for other food products. That’s my food
footprint. This footprint has no definite measurement. I can change this measurement

by changing my food habits.
Statement1 : The surface arca needed to stand on foot is called ecological
footprint.
Statement 2 : Ecological footprint depends on the consumption of each and

every individual.

Statement3 : FEcological footprint is the finite area of Earth’s surface to
support everyone’s existence on the Earth.

27. CITES is an international agreement among the Governments of various
countries. Because the trade in wild animals and plants crosses beyond borders of the

countries. the effort to regulate it requires international cooperation to safeguard certain

10x5



species from over-exploitation. CITES was conceived in the spirit of such cooperation.
Today, it accords varying degrees of protection to more than 30,000 species of animals
and plants. whether they are traded as live specimens, fur coats or dried herbs.

Statement 1 : CITES is an international agreement to prevent the Trade in
Wild animals and plants.

Statement2 : CITES is a law for conservation of Nature.

Statement3 : Presently, about 2000 species are protected by CITES.

28. The rapid urbanization in developing countries creates a dilemma. Cities
attract millions of people as a center of industries and commerce since long past. At
present, the increasing structure of the city and migration of huge population raise
questions about the quality of life there. Though there is no documentation of many
city’s carrying capacity, yet for many citics the increasing trend of human population
overtakes the capability of urban administration.

Statement1 : Thereis a known threshold of population for all the big cities.

Statement2 : Urban administration does not have any mechanism to handle
population growth in cities.

Statement3 : Although there is no evidence of any threshold population for
many cities, but in several cities the population growth have
overtaken the capability of urban administration.

29. Biomonitoring is a branch of scientific research which analyzes the tissues
of humans or animals to detect and measure the subject’s exposure to both natural
and synthetic, or man-made chemicals. Both natural and synthetic chemicals leave
their impact on the body in one way or another through “markers.” These markers can
either be the actual chemical which remains in the body's tissues, or the by-products
of its breakdown.

Statement1 : Markers of Biomonitoring are either an actual chemical of
body or its by-products.

Statement2 : Biomonitoring is a procedure of analysing biodiversity.

Statement3 : Markersusedin biomonitoring are generally external chemical
agents.

30. Anecotone is a transition area between (WO adjacent ecological communities
(ecosystems). It may appear on the ground as a gradual blending of the two communities
across a broad area, or it may manifest itself as a sharp boundary line. Changes in the
physical environment may produce a sharp boundary, as in the example of a shoreline
or the interface between areas of forest and cleared land. Elsewhere, a more gradually
blended interface area will be found, where species from each community will be
found together as well as unique local species. Mountain ranges often create such
ecotones, due to the wide variety of climatic conditions experienced on their slopes.

Statement1 : Anecotoneisa transition area between two.adjacent ecological
communities.

Statement 2 : An ccotone always produce a sharp boundary.

Statement3 : An Ecotone may appear on the ground as a gradual blending
of the two communities across a broad area.
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